I3Y-J

A{TMIRREES (EPD)
Z&#ES . JR-AI-21106E

orother

at your side

T4 —T %#X <%t / BROTHER INDUSTRIES, LTD.

IJV-JRIBESANITIS A
—BHDEAT T T IIVIREHENE
FRETRBXEEEH2-2-1
https://ecoleaf-label.jp

APy MESH
Compact Color Inkjet All-in—One

MFC-J1010DW

BN SRERRS
m %A sl )
[RAARE Ao T, M. RERE P
[FHE, £E. fE, EH. EEERE
AR : MFC-J1010DW
=Y FIEI7I>ZY (h73-1DAR)
AREE : 7.7kg. BEAMD : 1.0kg
-BRAAIRYAX (&K215.9%x297mm)
- G3xHI
- B e EENRIAE
- fRARLAN
XARG(EACRALARIFTY
BELWSHhE %
I -T#MGAEE SURZENN IDEEES
TEL: 052-824-2511 (%) FAX: 052-821-5177

https://www.brother.co.ip/

ERES JR-AI-21106E
iEFPCRES PA-590000-AI-03
PCR% BERA LIRS (EE34R]
NS 2021411858
RIESI8BEA  2021410826H
REEA R S RF LRI
RELES JV-AI-21106
WEIE%HAR 20265108250
PCRLE1—-0DEfE

ZER% 2019F11H8H
ZER Ml B2
(—BAREADZFF T IR E )
SB=EHRGE*
SEPREEE AN B

ISO14025(CE > e REERUT —F DIRIL U ARSE
OIPAED L Pyl

*L AT LRI RITTEBEAANDIRIDBSE. R FT LB ZTD
EEEBORRIZE .

Eix&ES : JR-AI-21106E


https://www.brother.co.jp/

IaJ-J

HRIRGEER

SATERIRE S
B#ES © JR-AI-21106E

(EPD)

0%

IJV-JBIESAII OIS A
—REEA T T T IIVIREHEEE
FRETRBXEREE]2-2-1
https://ecoleaf-label.jo

OS54 TYA D)V EFmER

20% 40%

60%

80%

100%

S/RZEE) IPCC 2013 GWP 100a 97 |kg-CO2eq
[izdeale 0.059 | kg-SO2eq
BRHEE 0.0057 | kg-Sbeq °
= DEMETE mQEE MO b
BDEA-HIEEE aOEE-UY L
AER B =1y a5 OREMERE QHE O |omm- #ixEE| omm. uyron
SURZSE) IPCC 2013 GWP 100a | kg-CO,eq | 9.7E+01 || 5.9E+01 | 8.3E+00 | 6.1E+00 | 2.1E+01 | 2.1E+00
ERMEAL kg-SO,eq | 5.9E-02 | 4.1E-02 | 1.2E-03 | 1.2E-02 | 1.6E-03 | 3.6E-03
BRHE kg-Sbeq | 5.7E-03 | 5.5E-03 | 2.4E-05 | 2.6E-05 | 1.5E-04 | 8.9E-06
@5AITYAIIA>NR> NUDREE QMBI BRUEI(CE I D18k
=] =]
JEEA TR ER 5.6E+00 kg @ 1.6E+00 kg
JEEAERRE T RILE— 3.9E+01 kg SuUS 4.1E-02 kg
BATEEER 9.7E+00 kg TILEZO A 1.9E-03 kg
BAORETR)LF— 1.0E+02 MJ] ZOMERE 2.2E-03 kg
RKDEE 8.3E-02 m3 TSRFWI 4.4E+00 kg
N 2.0E-01 kg
HSX 6.2E-01 kg
|- K 9.2E-01 kg
ER[OFREM 3.0E-01 kg
Zofh 6.3E-01 kg




IaJ)-7J IJY-JRIRSANI OIS A

oy —HEEAT T T T IVIREHENE
,.f 4711.1 SIHEZ (EPD) TR T RO S8 2-2-1
ZixgEs . JR-AI-21106E https://ecoleaf-label.jp

OHERRICEY DEMHH

ERRBEOEERE (2FUA)
Jro=V O\=VUF)LRE) | BEERIRE 5. XS £9004%
BAERMER/(F—>  ITUT No.1Fv— b, EIRIBMKERIBEAICE TV ARGREIERAmET

©-1. T DMDIRIZEDE R
AEMOBITEE EFEEPmRDA > IRUAY RREEFISO14001FEEHR TIH(CTITON TLE T,

DERUVEZRT—IDERS
IDEA v2.1.3 ROTIU—TJBRESANIVIT OIS ABREEAL v1.10 ZERLIEZ.

®ff%

0> —FEEDHEF. PCREKLUVERE - EEREZSHRUTIIZE,
OLLE(CDWTIE. BE - EEMRECHEINZRGZ/IUILBESCUNRDHENEFE A
(ZHR5EURL : https://ecoleaf-label.jp/regulation/)
Eixgs . JR-AI-21106E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

